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1. Introduction
In RAN4#101-bis-e, some agreements were reached regarding HAPS coexistence simulation assumptions [1] and the latest assumptions has been updated in [2]. For RAN4#102-e, comprehensive simulations results for HAPS adjacent channel coexistence based on the latest assumptions are presented in another paper [3]. In this contribution, we discuss the ACLR and ACS requirements for HAPS BS based on the simulation results.
2. Discussion
For both ACLR and ACS requirements, the protection criterion for the victim system in adjacent channel is no more than 5% degradation in either mean throughput or 5%-tile throughput.
HAPS BS ACLR requirement
This requirement constrains the ACI generated by HAPS in the DL transmission. Simulations have been conducted in the following cases [3]:
1. [bookmark: _Hlk91967252]Victim is a Urban Macro TN DL (HAPS DL→UMa TN DL)
2. Victim is a Rural TN DL (HAPS DL→Rural TN DL)
3. [bookmark: _Hlk91967278]Victim is a HAPS DL (HAPS DL→HAPS DL)
The results of ACI caused degradation in mean throughput and 5%-tile throughput are shown in Figure 1. The required ACIR to meet the protection criterion is 23 dB. Assuming UE with 33 dB ACS, the required ACLR for HAPS BS is calculated to be 23.5 dB using the model
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[bookmark: _Ref92034271]Figure 1. (a) Mean throughput loss and (b) 5%-tile throughput loss as a function of ACIR when HAPS DL is the aggressor
Independent simulations suggest the required ACIR for TN DL protection is 26 dB [4], corresponding to a required ACLR of 27.0 dB (assuming 33 dB UE ACS). Based on these simulation results, we propose the following ACLR requirement for HAPS BS.
Proposal 1: The required ACLR for HAPS BS is 27 dB.
HAPS BS ACS requirement
For HAPS BS ACS requirement, we consider HAPS UL as the victim. Simulation results in [3] include the following cases:
1. Aggressor is a Urban Macro TN UL (UMa TN UL→HAPS UL)
2. Aggressor is a Rural TN UL (Rural TN UL→HAPS UL)
3. Aggressor is a HAPS UL (HAPS UL→HAPS UL)
ACI caused degradation in the victim HAPS UL is shown in Figure 2. The required ACIR offset X to meet the protection criterion is X=0 dB. There is no room for the ACS noise in addition to ACLR. The assumption for UE’s ACLR is ACLR1=30 dB and ACLR2=43 dB. To keep the ACS noise at a low level, we propose setting the required ACS for HAPS BS higher than ACLR2.
Proposal 2: The required ACS for HAPS BS is 46 dB.
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[bookmark: _Ref92035382]Figure 2. (a) Mean throughput loss and (b) 5%-tile throughput loss as a function of ACIR when HAPS UL is the victim
3. Conclusion
In this contribution, we propose the ACLR and ACS requirements for HAPS BS based on available simulation results.
Proposal 1: The required ACLR for HAPS BS is 27 dB.
Proposal 2: The required ACS for HAPS BS is 46 dB.
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